M & 0l A AF &2 A A
2011E T 20 o LBa|H
I 100 XIgAH22
2110 XAl
st 111 BEAl EERE)
SR Ofl &k ot A 0l A o HDZ2
= 7 363,800,000 357,800,000 6,000,000
100 XIg Al 42l 34,310,449 30,659,300 3,651,149
110 X2 Al 34,310,449 30,659,300 3,651,149
111 HEA 33,756,449 30, 165,300 3,591,149
111-03 = QIAl 520,000 473,500 46,500
[ 2ers ) ] 520,000 473,500 46,500
<HRD > 520,000 473,500 46,500
OM A2 (HI2D) 2502 * 800,000 200,000
OBFS2 (=) 320,000
Y LI=a=r 275,000
SX o 4,50080 * 27,000 CH 121,500
S0l 3,0008! * 14,500 CH 43,500
QI AN K2 50,0002 * 2,2000H A 110,000
—golase 50,0002 * 9007H & ©! 45,000
111-04 TH A&HA] 5,354,400 4,881,000 473,400
[ 2ers 2 ] 5,354,400 4,881,000 473,400
<H=2D > 5,354,400 4,881,000 473,400
OEXIZ(H=21) 1,050,000,000,0008! * 0.268% 2,814,000
OF2 (M) 550,000,000,0002 * 0.228% 1,254,000
OAES2(HNRD) 480,000,000,0002 * 0.268% 1,286,400
111-05 X+ XHAl 13,386,249 13,064,300 321,949
[ Qo5 ] 13,386,249 13,064,300 321,949
<HRD > 13,386,249 13,064,300 321,949
OSEXNSIH (NS 203,0002! * 23,600CH 4,790,800
OSSN E R 61,7502 * 1,400CH 86,450
OSISNEXH(N2D) 27,0702 * 11,700CH 316,719
OXNSIH BE2(MRD) 140,000,0008! * 128 1,680,000
O24+H EXZ(M2D) 542,690,0002 * 128 6,512,280
111-07 b A HI Al 6,315,000 5,616,000 699,000
[ 2ers ) ] 6,315,000 5,616,000 699,000
< H2D > 6,315,000 5,616,000 699,000
O= MR 524,560,0002 * 128 6,294,720
OQ&HHI2 D) 1,690,000 * 122 20,280
111-09 X2t AS Al 8,180,800 5,890,400 2,290,400




100 XA«

.
110 X 9HA
S 111 HEA CERED
X282 01 4 o 1 & 0 ooy HnE2
[ Letg|H ] 8,180,800 5,890,400 2,290,400
< NS > 8,180,800 5,890,400 2,290,400
OASZ(H2D) 7,600,000
—ASAHE 12,000,000,000& * 10/100 1,200,000
—golANE 40,000,000,000& = 10/100 4,000,000
—suzyas 24,000,000,00081 * 10/100 2,400,000
OZ=gIA=2(MB) 9,680,000,000& = 5/1,000 = 12& 580,800
13 Aty &2 554,000 494,000 60,000
113-01 AtyE &+ 554,000 494,000 60,000
[ Letg|H ] 554,000 494,000 60,000
< N2 > 554,000 494,000 60,000
OXLEE 22 (HMSD) 554,000,0002 * 14! 554,000
200 Ml2l=¢ 32,379,464 33,386,985 A 1,007,521
210 HAIE A2l 4] 7,457,145 6,905,565 551,580
211 THAHR) CH 2] 193,753 246, 181 A52,428
211-01 2STUAAHE 31,500 40,971 A9, 471
[ Qus 31,500 40,971 A9, 471
< M3 > 31,500 40,971 N9,471
O=eMA 202 (5 31,500
— =% 12,000,00081 * 50/100 6,000
- X 45,000,000 = 50/100 22,500
—J| Ef 6,000,000& = 50/100 3,000
211-02 2SMALL 2 162,253 205,210 N42,957
[ 2Btal A ] 162,253 205,210 N42,957
< NS > 162,253 205,210 N42,957
OAmpAZIISH SEE AL UE)| B4 ARSI 202
(EXNRXE) 2,000,000& = 14! 2,000
O0lgA AI260F dUHS(EXNSXE) 700,000& * 12& 8,400
ORSBRAAL ARSI AU (ENSTL)
200,000& * 12& 2,400
oysEEBAN B4 AW (ENSXEY)
900,000& = 128 10,800
oolgRsBIAN A AW (ENSXEY)
800,000 * 122 9,600
OANSTHAAMHZ (2 H ) 85,000




& 200 M+¢
2t 210 ZAHEA =
& 211 Matdtli=¢ (&9 ®M
Z.a.-8.5 Off &F oM & HE =0 AhoH HlwE2
—=3X 2,200,000,000& * 10/1,000 22,000
— X 910,000,000& = 25/1,000 22,750
—Jl &t 665,000,000& * 50/1,000 33,250
-4 2 280,000,000& * 25/1,000 7,000
O=gxY A2z(H&) 18,477,000& * 14 18,477
OANREY RS (M=) 100,000,000& * 10/1,000 1,000
O=deol =X sSA4SEHIE 2dUs(sZ3o=1)
7,026,3702 * 1Al 7,026
OANSXNHES(ZX)(SASERI &)
700 * 30,000m * 1/100 210
OLAN SANUS THIIE MEES U (=ESSREA)
14,000,000& = 1A 14,000
OJIEt s2ML LUHZ(HMSAE2LIAIR L) 3,340
—gFANMS3 360,000& = 13l 360
—MEH =23 760,000 * 13 760
— g3l 620,000 * 13 620
—HOIEZ2E3 380,000& = 13l 380
—=37g3l 570,000& = 13l 570
— AN 380,000& * 13 380
—2xgsl 270,000& = 13l 270
212 22+ 2,890,978 2,929,036 238,058
212-01 S2AIE 2 196,406 166,799 29,607
[ LBt 196,406 166,799 29,607
< NS> 196,406 166,799 29,607
OEX(AH& 89,000& * 32,000m * 5/1,000 14,240
OBXE )
400,000& = 14,500m * 25/1,000 145,000
OSSE2HE(H4D) 9,900& * 1,000m" 9,900
O3&NsH(HLD) 24,100& = 20CH * 50/100 241
OXlot2Z (H&Dt) 400& = 19,500m * 50/100 3,900
O&EF (AL 850& = 20,000m * 50/100 8,500
ORd(A4m) 1,250& = 1,300=2 1,625
OJIEHA AL D) 65,000& * 20021 13,000
212-05 AIZALEZ 83,212 83,212 0
[ LBtsH ] 83,212 83,212 0




I 200 MIQIge
2 210 ZAEA 2
& 212 AlB224Y CHel i AR
Aot & Off Ak oK Hus2
<MD > 83,212 83,212 0
O3 &AZ 83,212
= 2,143,753,2002 * 3.5/100 75,031
—AEs 409,088,600 * 2/100 8,181
212-07 LE2 % 529,720 508,255 21,465
[ Letg ] 529,720 508,255 21,465
<MD > 529,720 508,255 21,465
OXt 5 2E 690
-0 1,0008 * 5009 500
—HAad 5002 * 200 100
—olglol 3002 * 300 90
OEE L] ZEIAR A ) 529,030
—JHer (et 309,300
-2 3,0002 * 95,500 286,500
HAW 2,0002 * 4,400 8,800
G 1,0002 = 14,000 14,000
—Jher (2= 22,300
= 1,5002 = 13,800 20,700
AL 1,000 * 600" 600
01210l 50094 * 2,0009 1,000
—CHAl 197,430
= 2,5008 * 22,900 57,250
HAad 1,5002 * 74,200 111,300
01210 800! * 36,100 28,880
212-08 JIEFAIR R 2,081,640 2,170,770 289,130
[ LetsH ] 2,081,640 2,170,770 89,130
<MD > 2,081,640 2,170,770 89,130
OLYMMZEI|R2 MN2R(EXSXE) 1,865,000
— el 4,500 * 330,000% 1,485,000
—A0H 3,0002 = 100,000% 300,000
—CHAl 4,000 * 20,000 80,000
OFAE 0 ) 5,000
—0F & 1,500




& 200 M2
2 210 B EAMLA=
g 212 ABE=Y (el &R
g-2-g-3 Off &t o4 & & 0ff Ak oY HlnsS2Z
EEASS 300& * 1,000& 300
el 600& * 2,000¥ 1,200
—=g¥ 3,000
EEASS 600& * 4,000& 2,400
el 1,2008 = 500 600
—OFI20 50,000& * 103 500
OBIIHSIZ 22 = (ATHS D) 40,0008 * 102 400
OXg S¢S AMES (M=) 149,750
—4hat(4el) 45,0008 » 64 » 140 37,800
—&tar(s5el) 55,0008 * 84l * 150€ 66,000
—4tat(eel) 65,000& * 24 * 140 18,200
— A (S E) 100,000 = 24 = 120 24,000
OrZH=2 5,000& * 6502 3,250
-394 10,000& * 202 200
— =Xt 3,000& = 100CH 300
O=&+8% AS= (A=) 100,000& = 100% 10,000
O=sJIH 2t ME8E (SsEXNTH) 20,000& =+ 1,0002 20,000
QHMUSISHEH A8 »2 (HMEsHH) 14,640
—Jlz & HilW=s 3,000 = 460 = 43| » 23] 11,040
—gdstEs oA u= 3,000& » 200 = 3& * 28] 3,600
OFZINIEH(HMSANEZHRIARL) 2,490
-5 100,000& = 13| ~12& 1,200
-3 70,000& * 13| = 123 840
—H=s2 @A 150,000& = 13| » 33 450
OBX=FH(HSAMEZRIARL) 1,920
-5¢ 70,000 * 22| » 8E 1,120
—gg 50,000& = 22| » 8& 800
O=Z2HMSHH (MSAZ2ACIMRL) 3,400
—-5¢ 150,000& = 13| » 6& 900
—gg 100,000& = 13| = 53 500
—HM=2 @A 400,000& * 13| * 53 2,000
O=0UMSUH(EZZEIE) 2,340
-5 70,000& * 12| » 128 840




I 200 MIQIge
2 210 BAEALIY
& 212 AlB224Y (St &)
F.n-8-=2 Ofl & 24 & 0 aroY HRE
-y 50,0008 * 13 = 12& 600
—HE2 A 150,000 * 13| * 68 900
OZCMSHE RUHALE L AAZSS(HMSALEACIAIRL) 2,860
—oro13 5,0008! * 163 80
—2toIE 20,000 * 163 320
— Nz 30,000 * 163 480
—SAlL 30,000 * 163 480
— kg 1,500
-0l 30,000 * 163 480
NS =S 102,0002 * 103 1,020
OMEHFZ(MIAL2AIAIR L) 3,840
-5 80,0008 * 23| = 12& 1,920
-y 60,0008 * 13 = 12& 720
—HF2 A 200,000 * 18] * 68 1,200
213 2424 ¢ 1,317,497 1,182,578 134,919
213-01 BRI+ 534,759 451,376 83,383
[ 2ets A ] 534,759 451,376 83,383
< M2 > 534,759 451,376 83,383
OSFFFARI(FAUSAL) 47,800
— 24 30,600
- 4 OI(15KI014) 40,0002 * 6007 24,000
SNENE= 20,0009 * 57 100
IR, 25,0008 * 2607 6,500
— 22 17,200
- HOI(15MI1014) 100,0008 * 1207 12,000
- AbAHE 40,0009 * 57 200
- 50,0002 * 1007 5,000
ONS2A SHA L3 (M) 11,040
—HISEA(LH)SE A 800! * 1,000 » 12& 9,600
g xedAsol 8002 = 10024 * 12€ 960
—2s TR 8002 * 50 * 12& 480
Oget MZZ(MOSS AL 23,100
—HEse= 1,0008 = 50024 = 12€ 6,000




09 e 0

200 Hi2l4l
210 ZATH 2+
213 £ 424

& Aol A 0 Aol =
—JIEBAHSE 5 1,0002! * 58021 « 12& 6.960
L EESS 5008 * 20021 * 128 1,200
—Fos=Es(x)= 4002 * 70024 * 128 3,360
—JIE MEY 3008 * 35021 * 12 1,260
—olA=y 6002 * 60021 * 128 4,320
OS0l i@ 23)| 2A(MOISSAD) 3,800
—Fos=Esx=9 11 4008 * 9,50021 3,800
OWZYS AU (MOISSAD) 25,645
-0 =201 2,000 * 8,800 17,600
-5 =403 60021 * 7,700 4,620
—5E0ILf O3 IR 35021 * 5,500 1,925
—S40id S 1,00024 * 1,50084 1,500
OLEHH S (MO SE A D) 200,000
—19) gBs o5 200,000,0008 * 14! 200,000
OAZSI M oA (MOIES 13,750
— 45 28,0008 * 25021 7,000
—go(45)HA 9,300%! * 6002 5,580
—FAH 26,5002 * 401 1,060
—MeiE ¢Z 44 5,508 * 202 110
OEX OIS o
1,5008 * 1,25021 » 12 22,500
ONSXt SE(DSH 67,872
—AASE 2,000 * 20021 * 128 4,800
—HASE 1,300€! » 15024 « 128 2,340
R 1,0008! * 85021 * 12& 10,200
—grsSs 1,008 * 25021 » 128 3,000
L EEE 50,0008 * 7021 = 128 42,000
—NgLa 1,0008 * 17021 « 128 2,040
-Nsx SE= N 7008 « 18021 * 128 1,512
—s=asy3 3008 * 55021 * 128 1,980
OALIIHE= (RS 20,220
—dASE 4,0008 * 1024 * 128 480
-S=201d ¥ s 1,008 * 602 * 128 720
L= TR 50,0008 * 3021 * 128 18,000
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I 200 MIQIge
2 210 ZAEAN 2>
g 213 2424 el
.28 ko & 0f Ao ==
-SE5 5002 * 204 * 12& 120
—S=EaR 50094 = 10024 * 12 600
—AEIIH =BMNHE 2,500 « 1024 » 12€ 300
OXNEMSE (FHAXFD) 73,632
—EXI(Y0F s 5009 * 5,50024 * 12 33,000
—XE (Lo EsS= 7002 * 4,000 * 12€ 33,600
—EXJA 8002 = 3002 * 12€ 2,880
—EX(Y 1,4002 » 1402AH « 12€ 2,352
—EX(Y 1,0008 = 8024 * 12€ 960
—EX(YonNx=HA 1,0008 = 7024 » 12€ 840
OAEZH MSY(FX =D 11,400
—-A==2 Nse 5002 * 1,20024 * 12€ 7,200
—2A=351D 4,200
&t 20,0002 * 1024 = 12& 2,400
il 5,0002 * 3024 » 12€ 1,800
ool Mz (A2 22in) 14,000
—ZICHA 600 * 2,500 1,500
— ookl 10,000 * 20024 2,000
—22= 1,5002 = 7,000 10,500
213-02 MY D XIS SEHS 493,000 464,000 29,000
[ 2ers A ] 493,000 464,000 29,000
<MD > 493,000 464,000 29,000
OMYI| Xel 58 Hi+L (HFES )
2902 = 1,700,0000H 493,000
213-03 MESS+H B 100,000 100,000 0
[ 2et3H ] 100,000 100,000 0
<MD > 100,000 100,000 0
OMSSE +H B> (B#BE2SD)  100,0008 * 1,000 100,000
213-04 JIEt =48 189,738 167,202 22,536
[ 2LBt3H ] 189,738 167,202 22,536
<MD > 189,738 167,202 22,536
O=SAZ DS FHIHZAICIXFRI D) 12,750
— &1t 17,0008 * 750 12,750
O=Sz2ne MD(ZAICIXID) 44,000




09 e 0

200 NI2l+=¢
210 & HAL
o

213 =8¢

A Ol
s

o
£
o
0

E.2.8.-5 L & Off Ak oK Hus2
—&lD 10,0004 * 1,400 14,000
—&40 3,0002 = 10,0002 30,000
OUEMEHIIS MBS (SFES) 5,0002 = 8,000H 40,000
OMEHIIZ XMl +4+2(SFAY L)
132 % 2,700kg * 30 * 12& 12,636
OUEHIIZ XMel +=+2(SFAY L)
5,0002 = 200§ * 302 = 128 36,000
OBLXelAd A8 =22 (BIAHL)
1.12 = 120,000kg » 282 = 12% 44,352
214 At 22 785,772 718,724 67,048
214-01 AHLI & A Ak Q) 25,000 45,000 A20,000
[ Lerg ] 25,000 45,000 20,000
< NS> 25,000 45,000 20,000
OAIEZ MADGA(SHUSD) 1,2009! * 20,000kg 24,000
Obl HallE GEE MM (SEXNTD) 1,0008 = 1,000kg 1,000
214-02 =xe34Y 126,280 126,280 0
[ 2ers| A ] 126,280 126,280 0
<MD > 126,280 126,280 0
OZLEAE FXUERY /LA (I NEHEE)
3,200,0002 * 43| = 0.1 1,280
OB4SAL FXE FXUHRSB(TAICIXQID) 2,000,0008 * 128 24,000
OLARSFIE eSS (NSHZ D)
25,250,000 * 43 101,000
214-08 Q2 At 52 632,492 545,444 87,048
[ 2ers A ] 632,492 545,444 87,048
<MD > 632,492 545,444 87,048
OXZHl = (22AAE D) 456,540
—B XX 2H(2ARE2) 1,100 = 3,500 * 12& 46,200
—EBNX2H(HER2) 9,7702 3,500 * 12& 410,340
OxZ L AT (AA2A2| ) 175,952
—B XX 2H(2ARE2) 5002 * 1,600 » 128 9,600
—EBNX2H(ER2) 3,610 = 1,600 » 12& 69,312
—HAABTH (B R2) 40,0008 * 159 « 129 7,200
— U BHA A} 10,0002 * 1,500 15,000
== 15,0002 * 2,500 37,500




200 Al2l==¢
210 HAE M Q&
214 N ==¢

09 e 0

mn

£
o
0

T 0O &+ o4 rSTEL=PNEEN =2
—HYEE O3 37,340
BE 2t 3,4002 * 2,000% 6,800
BEIZA 3,5002 * 200 700
NEsPEEY 7,3008 * 8002 5,840
Suy S 8,0002 * 3,000% 24,000
214-09 JIEIA 2 22l 2,000 2,000 0
[ s ] 2,000 2,000 0
<H=2B > 2,000 2,000 0
OXSse WAME ASAHE MU4Z2 2 (SENTD)
1,000,000 * 24! 2,000
215 A+n234 659, 145 619,046 40,099
215-01 A4+n234 659, 145 619,046 40,099
EEEEN 659, 145 619,046 40,099
<H=B > 659, 145 619,046 40,099
OZHE: DEZ(M2D) 467,370
—FSA 13,480,000,0008 * 3/100 404,400
—S=H5A 656,000,0002 * 3/100 19,680
— X % XH2L Al A 747,000,0008 * 3/100 22,410
S IET=gP N 696,000,0002 * 3/100 20,880
OSZZARE &4 RE2(ALD)  19,084,0008 * 30/100 5,725
OBINLHSRLL2ES DES(HZLE)
1,400,000,0008 * 9/100 126,000
OMFLUAL OIAZA THE S22 (2AAL D)
2,50020 * 20 50
OSXN2HLLD 21 +22(SHULD)
60,000,008 * 14! 60,000
216 01K +2! 1,610,000 1,210,000 400,000
216-01 ZBOIZ0I Xt 4 1,610,000 1,210,000 400,000
EEEEN 1,610,000 1,210,000 400,000
<H2B > 1,610,000 1,210,000 400,000
OFIIIZ (M) 50,000,000,0008 * 3.2% 1,600,000
OBSHZ (M2 1,000,000,0008 * 1% 10,000
220 2 Al X Al 2] 42! 24,922,319 26,481,420| A 1,559,101
221 T &HOH 222l 10,000 110,000 100,000
221-01 2RS4 10,000 10,000 0
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200 NI2l+=¢
220 SAI AL+
221 THAHOH 2F =&

m
0
ot
0

HoPodo=5 Of &+ o8 H & Off AFOH s

[ 2et3 A ] 10,000 10,000 0

<MD > 10,000 10,000 0
O2SMAZ HE 2=242(3H ) 10,000
— 2T A AES 50,000,000 * 20/100 10,000

222 2403 23,500,000 25,000,000 A 1,500,000

222-01 =HIAHL 2 23,500,000 25,000,000 A 1,500,000

[ 2et3 A ] 23,500,000 25,000,000 A 1,500,000

<MD > 23,500,000 25,000,000 A 1,500,000
O3 H =HAHL2 23,500, 000,000 23,500,000

224 M3 148,000 201,000 A53,000

224-03 JIEFEI A AU S 148,000 201,000 53,000

[ 2et3 A ] 148,000 201,000 53,000

<MD > 148,000 201,000 53,000
O==xXMel&d 294l 76,000,000 76,000
s=086t+S & 72,000,000 72,000

207 23 329,000 97,850 231,150

227-01 RXSHH2EE S 320,000 0 320,000

[ 2et3 A ] 320,000 0 320,000

<MD > 320,000 0 320,000
OMEa) A2 (W2 XI2t) 320,000,0008 = 1CH 320,000

207-02 LBtee3 9,000 97,850 88,850

[ LetsH ] 9,000 97,850 88,850

<MD > 9,000 97,850 88,850
OUtH MXEL 2 =X 200,0009 * 252 5,000
ONLRLS(FHXHD) 4,000,0008 = 224 = 50/100 4,000

228 T4 760,319 912,570 A 152,251

228-01 22302 19,500 7,500 12,000

[ 2et3 A ] 19,500 7,500 12,000

< NS> 19,500 7,500 12,000
OTSIE HLUS(2HD) 19,000
—A83s2X 2,000,0008 * 2CH 4,000
—SI2EH(ZAHR) 15,000,000 = 1CH 15,000
OSS2SE W2U3(2H) 500
— A=A 500,0008 = 1CH 500
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09 e 0

200 MIol42)
220 2 AIE Al 2l 2l
228 &4

i
£
o
0

F.op-g-2 ko & oz
208-02 HASIYR LS 10,000 A2,500
[ 2et3H ] 10,000 A2,500
<MD > 10,000 A2,500
OJN2%, P42 Olof HAS (A=)
500,000 * 202 10,000
228-03 MEH2 373,200 A17,520
[ 2et3 A ] 373,200 A17,520
<MD > 373,200 A17,520
ONESE BH2(MOISEALD) 20,0002 * 624 = 12& 1,440
OAlZ2MY 28t UEHS (MOISSAID)  200,0002 * 102 2,000
OMALE BJHS(RSHZY) 134,400
— X 100,000 * 40AH * 12€ 48,000
— 0ot 600,0008 * 1224 * 12& 86,400
OMY I Y £I| WE2 2(HABL3SW)
100,000 * 4024 4,000
O13 22 A2 ALt AILE BHS(SHFLES )
100,000 * 30A 3,000
OstF Y (NSRS ZES D) 200,0008 * 20A 4,000
O3 N3 2 WEHS(SHBESS D) 5,000
— 28t BERS (1A S 100,00084) 100,000 * 352 3,500
—28t BERS(124E 500,000 ) 500,000 * 324 1,500
OJ=en 22y AL WEHI(SFES D) 500,000 * 42 2,000
OXNSX SE BHS(LNSHF ) 61,200
—AREE X 50,0009 * 521 = 12€ 3,000
—HIASE X 100,000 * 102A = 12€ 12,000
—-0|®@sS=E XA 100,000 * 124 = 128 1,200
—2AA D12 B 100,000 * 302 * 12& 36,000
—ZASE XA 250,0009 * 124 » 129 3,000
—-ME5=E XA 250,000 * 224 = 12& 6,000
OAEI|H BEHS(NESSHF D) 6,000
—2A D12 B 50,0002 * 1024 » 12 6,000
OFHI <8t B2 +Y(RSHEIY) 148,960
— =X Bt DER2 (124 32,0008
32,0002 * 2402 * 128 92,160




200 MIQISe
2 220 UAIEMIQIZ=2
g 208 TH4Q (cte &2
F.op-g-2 Ofl A+ o4 & 0] At o oz
—Z=HI I DEH2 (12 40,0009)
40,0002 * 11024 * 12¢ 52,800
— =X B DEH2 (12 50,0009) 50,0002 * 80H 4,000
OAMgExe MIIFEH X BEH2(DSHF )
50,0002 * 24 * 129 1,200
228-04 DE2LO|HLH2 91,300 76,900 14,400
[ 23 ] 91,300 76,900 14,400
< HSH > 91,300 76,900 14,400
OSAAARSH 28t HEQL V(222D
500,000 * 3A 1,500
OseH/HIti2E ¢ HYH 28 S (2st2Z 1)
500,0002 * 2 1,000
OHFAESSHB A2 (QIHEAD)  1,000,0008 * 103 10,000
ORCHEX| X HRAZ(DSHED) 5,400
—2 M el 1,000,000 * 52 5,000
—X&He 200,000 * 2H 400
OYRLIXIS VA (DEHE D) 200,000 * 40 8,000
ORLE2H HEAZ(DEHF ) 400,0002 * 32 * 128 14,400
QA=A O|HLMS (A=) 5,000,000 * 104 50,000
OS2 A A HPLAL WES(EHAL D)
500,000 * 2A 1,000
228-09 J|Et&E 22 266,319 424,950 A 158,631
[ et H ] 266,319 424,950 /158,631
< MR > 266,319 424,950 A 158,631
AMAZISHE(AY HE)AI AR2(ENSIE)
300,0002 * 12” 3,600
OABAZI SR (INEINHIMNER(ENSIE)
100,000 * 128 1,200
OF LA ZEX o2H N2 (A222/])
100,0002 * 10 1,000
OsJIH =522 REEW(SE=NED) 250,0002 * 1203 30,000
OFIIMB2(HSAERIARA)
M3 S 1350008 * 132 * 128 21,060
O=TAS2(HSAEZRIARA)
HILIASES S 27,0002 » 224 * 129 648
OJIEt &2 208,811,00084 * 14! 208,811
229 X|LtE & 29 175,000 160,000 15,000
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200 NI2l+=¢

220 SAI AL+

09 e 0

229 XLt =42 (e &
.-z-8.-2 Off &k o4 & Off Ak oK Hus2

229-01 XNtEH =4 175,000 160,000 15,000

[ 2et3H ] 175,000 160,000 15,000

<MD > 175,000 160,000 15,000
OXNHHEE 2 (M) 175,000,000 * 14 175,000

300 Xl Al 168,879,220 164,972,000 3,907,220

310 XY w2 Al 168,879,220 164,972,000 3,907,220

311 N2 Al 168,879,220 164,972,000 3,907,220

311-01 ES W 2Al 164,724,220 160,817,000 3,907,220

[ 2et3 A ] 164,724,220 160,817,000 3,907,220

< JIE2AE > 164,724,220 160,817,000 3,907,220
OES A 161,783,220,0002 161,783,220
OE2EdE 1 2,941,000,000 2,941,000

311-03 SA WA 2,155,000 2,155,000 0

[ Lerg X ] 2,155,000 2,155,000 0

< JIEZAE > 2,155,000 2,155,000 0
OSADNLA 2,155,000,0002 2,155,000

311-04 2SS4t 2,000,000 2,000,000 0

[ 2ers| A ] 2,000,000 2,000,000 0

< JIE2AE > 2,000,000 2,000,000 0
ORsSMNEA 2,000,000,000 2,000,000

400 ZHDNESLWELE 7,358,000 7,358,000 0

420 HE2AS 7,358,000 7,358,000 0

21 WHEAZ 7,358,000 7,358,000 0

421-01 HBEXS 7,358,000 7,358,000 0

[ 2et3 A ] 7,358,000 7,358,000 0

< JIEZAE > 7,358,000 7,358,000 0
OB 2 7,358,000,000% 7,358,000

500 Bx2 117,872,867 117,423,715 449,152

0 2DEX2E 90,525,359 90,645,479 A120,120

511 2DEX3E 90,525,359 90,645,479 A120,120

511-01 22 X2 60,477,590 64,522,149 A4,044,559

[ 2Bt3 A ] 60,477,590 64,522,149 A4,044,559

< JIE2AE > 60,477,590 64,522, 149 A4,044,559
OZHEHSE 457,424
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—SOHUXHALSERN HNHedH 7,000,000 * 14 7,000
—ASIEDIIY S AN Hl XIR ALY 48,000,0008 * 14 48,000
—ARIRDIY S 2Xel FEAY 53,676,000& » 14 53,676
—XNESSH LXtelAt 348,748,000% * 14 348,748
OZEs¢E 56,712
—ANZREES ZSIIBE AIAE 2= 24,840,0008 » 14 24,840
—AZFLHEEEANAE SSHH WA 21,312,0008 * 14 21,312
—d230te T2 2y 10,560,000& * 14! 10,560
OXHXI & & 1t 72,316
—2HIHSH LoHAKSH 8,100,000 * 14 8,100
—IIEZAHEE AR YEHE 0124Y] 64,216,000& = 14 64,216
O=8=XI1 39,735,822
—JtARHE =201 At 64,937,000& = 14 64,937
—S3SXNIESHA M 4,002,000& * 14 4,002
— 2 ZMHEZEAZAH(RSR) 379,441,000& = 14! 379,441
-2 =MSSE SO (4AH) 10,955,100,000& » 14! 10,955,100
— 2= MESEEH IO (GHAE ) 79,541,000& » 14 79,541
— 2 ZMEHEIZAH(F) 2,684,465,000& * 14 2,684,465
—JIzkg d3Xd 13,439,244 ,000& = 14l 13,439,244
—2U==X XA 91,339,000& * 14! 91,339
—LoIES20| BI*HAH 307,877,000& = 14! 307,877
—LQ=EXAIE JIsEZAE 30,000,000& » 14! 30,000
— QAR A 403,260,000 * 14! 403, 260
—SOHEZMHQ F=EHIHEAS 5,700,000& = 14| 5,700
—U2SNEXNJLEH LIISSAY 42,000,000& * 14 42,000
—SHZQ YE2AC|AL DHAAE 203,212,000& * 14 203,212
—CEAEIEAY 300,000,000& = 14! 300,000
—EFSsSAblA 1,228,605,000& * 14 1,228,605
—ESAME JIs22 15,000,000& * 14! 15,000
—EFANE0I0I8 otsL=ENE 170,482,000& * 14 170,482
—ESALEXH 51,142,000& » 14 51,142
— A SXEESMEIA BRRAXA 35,735,000& * 14! 35,735
—AELIHARL2 A0 EEXE 6,720,000 * 14 6,720
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Z: 500 EX3

2t 510 212X 3S

g 511 218 E=S (o9 ®2

g2 Off &k 2K & & Off &K Blunsz
—OtSEEXE A 11,592,0008 * 14 11,592
—Ot==XIw At OHAX & 77,868,000& » 14 77,868
—OlOISE0IX& 165,044,000& * 14 165,044
—O{EZ0HQ! ASIE &I 59,621,000 * 14 59,621
—2R0t ES=XE 3,657,515,000& * 14 3,657,515
—Y0tS EFE+EAH 13,440,0008 * 14 13,440
—XEZZ2 A 1,200,106,000& * 14!] 1,200, 106
—Atgdes 58,490,000& 14 58,490
— ==X 435,684,000& = 14! 435,684
—Z0otsS MEXZ 123,451,000& = 14 123,451
—ZHAUSE AHIXEH 1,935,000& * 14 1,935
—HHAERIRDE 3,788,000& = 14| 3,788
—ZASI LAl XA 33,495,000& * 14! 33,495
—ZOHQIALS] SSXIH(HIRA) 279,308,000& * 14 279,308
—ZIMEAL DS 100,000,000& * 14 100,000
—Z 022 HIXI& 73,170,000& = 14 73,170
—ZO0HQIXtH SHHIXI& 2,442,000& * 14 2,442
—ZHAUXY THEANLIISEZ 74,044,0008 * 14 74,044
—HHAHICRO0IX A 100,035,000& = 14 100,035
—Hl s () 174,277,000& = 14 174,277
—gRd=goN 329,058,000& = 14! 329,058
—SSEML JNZHMHHAS XA 1,292,506,000& * 14 1,292,506
— XIS AMSIMHIA SXEALSY 168,600,000 » 14 168,600
—XgotsdE 2 X 193,933,000 * 14 193,933
— NS XEHE 2SR 168,779,000& = 14 168,779
—HAUHERE2 AF DAl Sl 1,232,000& * 14 1,232
—HAUSED OlSLSHIXS 3.650,000& = 14| 3,650
—HAUHERR JEHESENS 1,880,000% * 14 1,880
—SHHIMEAIE JIsEZ 100,000,000& 14 100,000
— S MEANE2E NS 235,000,000& = 14! 235,000
-3 S=E 98,077,000& » 14! 98,077
O3 At 15,000

—HIINSAES 15,000,000& * 14 15,000
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
OMOt=S S At 54,322
—CHABIA S Z H s=HYI 400,000 * 14 400
—ANZ N SMEEEE SN 7.693,000& = 14| 7,693
—ANZXASAHE OO X 17,008,000& * 14! 17,008
—AZotM A AIE FT O I 700,000 * 14 700
—HEolAZHNESRAMG 2R ESHI
1,000,000 * 14 1,000
—IJIE2AHESLRFE AL (2L H])
8,400,000& * 14 8,400
—IJIE2AHESLYRFA AL (2 0iH])
1,960,000& * 14 1,960
—IIIE2AHSSARLYRFA (AR 22|H])
17,161,000& * 14 17,161
O=Zzt2& 1t 1,241,101
—=INEEME S 1,096,400,000& = 14 1,096,400
—=L20F Hi=Z ALK AL 34,701,000& * 14 34,701
—HSMNEEEZHIAG (HSMEEEXY)
110,000,000& 14 110,000
O et 71,574
—HAELNS OtHI0I2Y X 71,574,000& = 14 71,574
OH& 3,600
—SFAANEHZMNETSEX X 3.600,000& = 14! 3,600
OsZESH 48,363
—z=dl0lE HMelX&d 41,440,000& » 14 41,440
—EAZOIEN2Y 6.923,000& = 14! 6,923
Odtd =X 2,141,319
—233xH 20,000,000& * 14! 20,000
—HEM ESESKH 2,500,000& = 14| 2,500
— SO ASTIJAY 230,673,000& = 14! 230,673
—AEEE AHEHY 12,800,000& * 14! 12,800
—MEEHSLHIIA 2L 750,000& * 14 750
—MEEoEs M 87,533,000& = 14 87,533
—MEMEIAE2R0] 75,058,000 » 14 75,058
—MEMEIA Sz E 28,642,000 * 14 28,642
—MEAMHIAZO0F QI AZHIXE 4,545,000& * 14 4,545
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—MEESHAD Bt 54,000,000& = 14 54,000
—MELXI ALY 15,014,000& » 14! 15,014
— M SR X2 150,580,000& * 14 150,580
—=I0tR0| 1,254,570,000& * 14 1,254,570
—OtMSSIlaHol LA 12,000,000& * 14! 12,000
—guERSNE 12,000,000& * 14 12,000
— I AHEH TS 12,000,000& * 14 12,000
— XM 124,404,000& = 14 124,404
—HaEdHEZ 38,850,000& * 14 38,850
—GIS2E EHINE 5,400,000% * 14 5,400
ORI ==& X 1%t 6,896,711
—IOFNHUERYY SHAA 451,000 * 14 451
—gDI=XNAEUSE d2UsIE 1,215,000& = 14! 1,215
—olgfelHes 480,000& * 14 480
—dEHotA S AL 1,500,000,000& * 14 1,500,000
—=OHASXIHE AL (Al AIRY) 1,500,000,000& = 14 1,500,000
— OIS0 ASHEIIRIIAY 1,788,705,000& = 14 1,788,705
— XA THoH ?I & X+ & bl 2,100,000,000& * 14 2,100,000
—MeFE I ot EY & FH 5,860,000% * 14 5,860
OF&8XI= 1 2,600
—NHAFALS 2,600,000& = 14| 2,600
OEAA(EBAHAIE D) 450,733
—sHEAZMHIA ALY 378,483,000& * 14 378,483
—224 dgY dEotu=s 700,000& * 14 700
—MBPAMOIE RO XA 60,890,000& 14 60,890
—HUEETAIZ SFHAIEIISEZ 10,000,000& * 14! 10,000
—FRAFY HEZAA2II2XE 660,000& * 14! 660
O=gJI&dH(s82=1) 383,677
—SHE3YHLE XA 39,000,000& * 14! 39,000
—SUSEYESFEEN sHusEsA
3,125,000& = 14l 3,125
—sgelfs2d 15,000,000& * 14 15,000
—sSUIRO0t =LK 220,000,000 = 14! 220,000
—SENENLE NS 770,000& * 14 770
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Z: 500 EX3
2 510 = 0ExSS
gt 511 =12 X3S (cte: &<
g2 Off &k 2K S & Off &4 Blunsz
OsgllsdH(SS0HHIED) 40,000
—sgIGHEHE AT 40,000,000& » 14 40,000
O=T At A 736,000
— SO0 E0tSot+== 384l 557,000,000& = 14| 557,000
— AU NEES A 179,000,000& * 14 179,000
O Z MG A 210,000
— MY MO AIE ERIALS (Ml IHEIAIAL)
210,000,000& = 14! 210,000
511-02 29 - NFLHSEIHEXS 25,985,858 22,290,796 3,695,062
2ders | ] 25,985,858 22,290,796 3,695,062
JIEZAME > 25,985,858 22,290,796 3,695,062
OJI=ZALE 5,000
— NG As 29X 5,000,000& = 14| 5,000
O3 Nz4dsE 425,200
—dSANE & S4ARSSFIIEAA  400,000,000& * 14 400,000
-y SEEN BEXSNEAAY  25,200,0008 = 14 25,200
O=2st2& 1t 4,740,000
—RAAFH 2SR NY 500,000,000& * 14 500,000
—ABATIE Y PSMEHEY2 X4 500,000,000& * 14l 500,000
—SFUSSHA 2Z343M2 2 sS0HAE
140,000,000& * 14| 140,000
— &2 250t 2 3,600,000,000& * 14| 3,600,000
OQIIH o 1t 500,000
—AZEAE EAEHES 500,000,000& = 14| 500,000
OS AICIRFQI 1t 3,045,000
—SAFHREIMNE A 3,045,000,000& * 14 3,045,000
OFaf-a; 10,845,872
—uWSADRSRMA 75,000,000& * 14! 75,000
—HAHRANISESEEL(5E) 3,609,000,000& » 14 3,609,000
=3 BHZEHEH(LESMHENL)
963,000,000& * 14 963,000
—SEMSEI I (LetsM0ENY)
2,424,000,000& * 14| 2,424,000
— 2B EH (s IIetE]) 2,959,872,000& * 14 2,959,872
—AR0SXd & MHE(HH) 315,000,000& 14 315,000
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09 e 0

(S5l : &2
.op-s-s 0 & 24 & 0] A o {imE=ET
e/ 500,000,008 * 14} 500,000
322,000
P! 322,000,008 * 14} 322,000
535,286
2 16,386,008 * 14 16,386
18,900,0008 * 14} 18,900
ENEES 500,000,008 * 14} 500,000
1,000,000
Ssguzry 1,000,000,0002 * 14! 1,000,000
B (sS4 2,000,000
OISR (SOEXR =SS H)
100,000,008 * 14} 100,000
DIEIAY (SOHER =S AABTR)
1,000,000,0008 * 14! 1,000,000
CIESEDI[CTE ST 100,000,008 * 14} 100,000
SH(22AH) 400,000,008 * 14} 400,000
SH(SHAE)NAHLABANAS LAY
400,000,008 * 14} 400,000
H(SEXNED) 150,000
2AMEBO| ZH| X2 50,000,000 * 14! 50,000
B 25,000,0002! * 14! 25,000
| 75,000,0002! * 14! 75,000
H(SMSHID) 329,500
AE AFRIHI (A2 5H) 270,500,008 * 14} 270,500
2 AE AR (B441) 59,000,0002! * 14! 59,000
2,088,000
Mg 1,848,000,0002! * 14! 1,848,000
TAE HAL 240,000,008 * 14} 240,000
4,061,911 3,832,534 229,377
4,061,911 3,832,534 229,377
4,061,911 3,832,534 229,377
330,482
Mgs 29 @ 30,960,0002! * 14! 30,960
=21 5 Kol 2 Ul X 150,008 * 141 150
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Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (o9 ®2
g2 Off &k 2K & & Off &K Blunsz
—CU23IE d2USAL2Y 146,958,000& » 14 146,958
—C230IE JHHAN LS X2 41,189,000& « 14 41,189
—U2eIENZHUEH2E 56,000,000& * 14 56,000
—dZAUIMA AZHXA 400,000& * 14 400
—OlSHAEESXY A2 3,600,000& * 14 3,600
—HEZHANE SAMILS 905,000& * 14! 905
—BRZIIENEHLE WSHX 50,320,000& * 14 50,320
O=2st2& 1t 436,667
— 232 AHLA SN (S LHEA SEAY)
50,705,000 14 50,705
—=22H MEEX AIAE2S 164,000,000 » 14 164,000
—=23 M Sg2cH XS 16,812,000 * 14 16,812
—HHLRSX AAE FX2te] 50,750,000& = 14 50,750
—HSE=2 HEs X BHAANELEX 50,000,000& 14 50,000
— SRS HHZHI QSR 104,400,000& = 14 104,400
OQITH e 1t 190,598
—AZdEHS X T A X 62,784,000& » 14 62,784
—AZ 02N M=easid 20,928,000& * 14 20,928
—ANZHHARS2S 1,500,000& * 14 1,500
—ANZEAYE 23EXH 16,000,000& * 14! 16,000
—AZEALESEANE AN A BHXIXE
9,720,000& * 14 9,720
—AZE~E SEXNFMATEF 40,850,000& * 14 40,850
—HAES0ICIES 4,800,000& * 14 4,800
—HSHRH™ AEAMBXR 34,016,000& » 14! 34,016
OH4 583,000
— AN ZMACT] I BEE A ALY 583,000,000& * 14 583,000
OEAHAM(EHAS D) 917,133
—SEXMHYEY NS £ FHIESZ  826,808,000& 14 826,808
—22AJ|2PCS AEeHHRH 1,725,000& = 14! 1,725
—XI0H=D BEALY 5,840,000& * 14 5,840
— XWX 28l XA 32,760,000& * 14 32,760
—Bto AL S A DI FAY 4,000,000& * 14 4,000
—etofALSAGE EHALAEY 43,500,000& = 14 43,500
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0
£
o
0

.-z-8.-2 Off &k o4 & Off Ak oK Hus2
S EHAL 520,000,000 * 14| 520,000
NEEL:] 31,720,0008 * 124 31,720
—FTAAI =8 & 22l 8,000,0002 * 14 8,000
MAERI| =) 340,055
S 57,000,000 * 14 57,000
ZHIXA 16,340,000 * 14| 16,340
76,493,000 * 14 76,493
BhstE ALY 72,990,000 * 14 72,990
2 117,232,000 * 14| 117,232
27,347,508 26,778,236 569,272
521 Al - £l 27,347,508 26,778,236 569,272
521-01 Al - THIE X3S 27,347,508 26,778,236 569,272
27,347,508 26,778,236 569,272
27,347,508 26,778,236 569,272
12,544,180
218,640
S AEIHLHIXIZ A 3,600,000& * 14] 3,600
S LT 2HEAY 17,497 0008 * 14] 17,497
HET BX2XAY 3,240,000 * 14] 3,240
XFel Ak 194,303,000 * 14l 194,303
3,960
soyzen2y 3,960,000 * 14| 3,960
4,471,653
0l AbY 10,493,000 * 14 10,493
A 29X 4,644,000 * 14 4,644
Xt o 2HIXI 19,0008 * 14l 19
SR OH & 1,201,000 * 14| 1,201
230 (LS) 33,201,000 * 14| 33,201
SESH(MA) 958,571,000 = 14| 958,571
BXZ0 (oHAHEHN) 6,960,000 * 14| 6,960
BHZH(FA) 234,891,000 * 14| 234,891
X2 671,962,000 * 14 671,962
At 7,992,0002 * 14 7,992
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& 500 EX3

2 520 Al,EHIBEXZ2S

81 521 Al SHIBEZS CORE

X-m-8-2 0] & o A 0f Ay HREZ
LoISE0l RHMXA 39,584,000 * 14 39,584
LOI=EXAE JISEZAE 9,000,000& = 14 9,000
S IRl ALY 120,978,0002 * 14! 120,978
SHEZ0HQ FEHIHEAY 2,280,000 = 14 2,280
Ch23IE Y2uUSAIE2Y 18,895,000& * 14 18,895
OesItE T elojg e e 5,296,008 * 14! 5,296
CH2SISXJME CIsstAIY 12,600,0003 * 14 12,600
-OERIIENALMH2SE 7,200,000& = 14 7,200
CE{ 0l MEBRRIA TRAAY 26,127,008 * 141 26,127
- BERSSAHUHA 324,723,000& * 14 324,723
- EFAEIIsEE 4,500,000& = 14 4,500
SEANL001B0IE SR 53,562,002 * 14 53,562
- EFAIEXA 15,029,000& * 14 15,029
M EXNSEAMHA 8E2J}XF 10,721,000& * 14 10,721
A=A Tlof X2 S HIXI& 52,000& * 14 52
ANEAZORIL DT o0 LT
1,008,000& = 14 1,008

orsegxY HHNA 1,490,0002 * 14 1,490
Ot==Xl WA THAX&A 10,012,000& * 14 10,012
OsHEESXYE diiz2Z 1,080,000& = 14 1,080
NP 21,220,008 * 141 21,220
HEZH ARSI ETHAIA 4,472,000 * 14 4,472
HEZS AESANLS 136,000& * 14! 136
QR0 82N 1,054,225,0008 * 141 1,054,225
- JAotsLE =L ANE 1,728,000& * 14 1,728
NEZZAY 60,005,000& = 14 60,005
EEEE 5,118,008 * 14! 5,118
==X 56,017,000& » 14 56,017
ZOoHots MEX = 18,518,000& * 14 18,518
S HOjoISE AHIXE 967,000 * 14! 967
ZOHIEX J|FuWR 284,000& * 14 284
O =X SRel X 10,048,000& * 14 10,048
BONIAE SR (BI2H) 41,896,0002 * 14 41,89
- HOjCIMEALE JIsES 30,000,000& * 14 30,000
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& 500 EX3
2 520 Al,EHIBEXZ2S
81 521 Al SHIBEZS CORE
Z-#-g-2 0] & o A 0f Ay HREZ
- ZOHIe 2HIXIA 5,488,000& » 14! 5,488
ZoHel XSty X 183,000& = 14 183
TOJOIRQ WAL IS 22,214,002 * 14 22,214
ZoHe HHER0] XA 35,012,000& * 14 35,012
ZOHIESXA(HILY) 22,407,000& * 14 22,407
CHEYD oINS 3,939,008 * 14! 3,939
S3EMII = HojAZ X 166,179,000& » 14! 166,179
NS A MBI A EXALS 21,677,000& * 14 21,677
NHOISHE 2SR 58, 180,0002 * 14 58, 180
NEXdH 29 XA 25,317,000& * 14 25,317
HFAad R2 AHDAl SsHIXNA 92,000& * 14 92
Had 2D OIS ASHIXE 274,0002 * 14! 274
A SIRRNE #sEisY 142,000& * 14! 142
SRS HEH2=E W= A& 3,774,000& = 14 3,774
BHMEAL JsEY 100,000,000 * 14! 100,000
StHIMEIAIE 2F X3 100,714,000& » 14! 100,714
UINIZEE 7,356,000& * 14 7,356
—3 D 15,000
IS AHES 15,000,000& * 14 15,000
—MOtS S At 6,847
CNRRESAME 2HEX 2,263,008 * 141 2,263
ANZ X SAHEE ZCIUHIOIE XI& 4,584,000& » 14! 4,584
— 2ottt 1,113,730
2B B4 140,966,0002 * 14! 140,966
- ZAZ0F =2 ALK ALY 10,411,000& = 14 10,411
- RHVIHEAN ZEAY(RHDVZHLASIAY)
50,500,0002 * 14 50,500
- 2 HEEX AIAE S 21,086,000 = 14 21,086
2t Eg822/HX& 3,362,000& » 14 3,362
SAAZES DRI 150,000,000 * 14! 150,000
ABMTIZIY SEME HYREY
150,000,000 * 14! 150,000
MR SAAAE X 2e 6,525,000& * 14 6,525
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& 500 Ex=3
2 520 Al EHIEX3S
&: 521 Al SHIRE2S (Ere: & 8
o8-S 0fl o SIEEA PR D52
WENBZE BUANY (HSARRSEXR)
55,000,000& * 14 55,000
SRUSSAR 2YLBHL 2 IS0HY
42,000,000& * 14 42,000
SQSESS XA QI 20,880,000 + 14 20,830
st=2 30t 3 463,000,000 = 14l 463,000
— QI 25,872
FHAE SR OBIH0SYNE 21,472,008 « 14 21,472
- MU AIE ALY X & 4,400,000& * 14l 4,400
— S AICI RO 1t 913,500
SAFNEZE ALY 913,500,008 * 14! 913,500
-4 1,243,721
WA HZHACT] JIBELALS 43,650,000& * 14 43,650
FAATIANSEE B (S5E) 464,000,0008 * 14! 464,000
SIIE BHE HEF (LS M0ENY)
123,000,000& * 14! 123,000
SEMHEATY (LS L0 )
312,000,000& = 14! 312,000
ZIIetE (s Y II8HEHI) 260,071,000& = 14 260,071
AROESEE & THHE(HE 41,000,000& = 14 41,000
— 32 14,561
Sd0IE HelX& 11,100,000& = 14 11,100
EAZOIEN2S 3,461,000& * 14 3,461
— &g =X 676,233
f2sxd 6,000,000& * 14! 6,000
- SO ASKIRAAY 29,658,000 = 14 29,658
SEEE HE RS 3,840,000& * 14| 3,840
-AEHEHE EMIIHEH 2 224,000 = 14 224
- MEHENE SR 24,571,000& = 14 24,571
MEAMHIAER0] 15,011,000& = 14! 15,011
MEAHIA SAZEYI 20,049,000& = 14! 20,049
SMEAES MAD|etEd 9,000,000 * 14l 9,000
AHES X THZH AR 6,756,000& * 14! 6,756
Ar= 2K CH 2 K| 2 67,761,000& * 14 67,761
=R 0| 287,464,000& * 14l 287,464
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B 500 BE3

B 520 Al EHIZEZSS

S 521 Al SHIEXZ2S cH | & 2l
Xopeg.2 Abo rSTEL=PNEEN SimE=FT

OHZ=D1 8 &AL

- NOXI=Hl X&AS

I
I
e
b
N

]

f2tel o)

0

e
0y
0z
o
>
[
o
il
x
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o
rige
0
Jp

- -
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ooy
Loy o
Y
woR A

UM
o = F
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=
09
I
N
0y
>
>
e

o
e
iy
o
Jc
>
e
H0
02

SOHASX HEAS (AZAIEH)
AATHOH AS X+ &bl

Bl A

At AKX

3,600,000&
1,404,000&
1,620,000&
3,600,000&
3,600,000&

22,755,000
150,000,000&

15,540,000
3,780,000

316,000&
850,000&
336,000&

300,000,000
300,000,000
500,000,000&
420,000,000&

1,758,000&

248,042 ,000&

5,328,000&
5,000,000&

198,000&
1,752,000&
9,828,000&

10,800, 000&
1,089,000&
1,035,000&

150,000&
2,610,000&

22,337,000&

10, 157,000&

Pr oy e R R xR

I

P rr e R » R

I

P rr 2 R

I

P rr e r ®

I

3,600
1,404
1,620
3,600
3,600
22,755
150,000
15,540
3,780
1,523,260
316

850

336
300,000
300,000
500,000
420,000
1,758
270,148
248,042
5,328
5,000
198
1,752
9,828
213,293
10,800
1,089
1,035
150
2,610
22,337
10,157
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e
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132
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& 500 EX3
Z: 520 Al,SHIBEX=S
B 521 Al CHIPEZE CORE
o282 0] &k o8 & 5 0] Ak o bl =2t
=H&2 SAUHXA 30,571,000& * 14 30,571
SI&8dls X3 A 360,000,000& * 14 360,000
ZAZANSY RIS H 37,800,000 * 14! 37,800
— SIS HE (SMSRIIZ ) 398,243
=g A*F 22| 85,361,000& * 14 85,361
E2LHE NEAL 47,790,000 * 1Al 47,790
S 2GHIXA 17,100,000& * 14 17,100
SSEHE MW= XA 4,902,000& * 14 4,902
O 22 AE AFRIHI (AHRI3H) 135,250,008 * 14 135,250
FASHAHASHI (S A 29,500,000& * 14 29,500
A2BZ2 428 HEESEI 26,754,000& * 14 26,754
Bl 14,013,008 * 14} 14,013
AAE MAD|BHEFS ALY 22,500,000& * 14 22,500
SuesaaAXA 15,073,000& * 14l 15,073
— SIS HE (RS D) 9,600
SHFGM EHE TAG TZ ) 9,600,000 * 14 9,600
—=T A A 326,000
=01E 0188+ EY| 59,000,000 * 1A 59,000
SESY MESSHY 237,000,000& * 14 237,000
A2 = AIEINSAS 30,000,000& * 1A 30,000
Ozl 2%x3 1,408,746
—ZHEdstE 671,000
S22 A (01L) 131,400,000& * 14 131,400
22NEOS 23X 10,000,008 * 14} 10,000
SIS HAAXA 6,000,000 = 14 6,000
LEHMAEI SSAIE=S I 100,000,000& * 14 100,000
TS MRE MAIZ 21 200,000,008 * 14} 200,000
MESXNEEH 2SN 40,000,000 = 14 40,000
- SAJY CIEARK 39,600,000& * 1A 39,600
NAaAT M@ 6,000,0002 * 14! 6,000
HA HLAIL XA 18,000,000& * 14 18,000
2252 SHAY 120,000,000& * 14 120,000
—Exgx 270,000
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oM
”J
oF
ol

e

KIo

=] pm}

=
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)
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=
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4,164
6,147
18,900
5,000
4,000
1,000
1,200
5,000
6,800
41,128
73,276
16,264
9,000
500
900
8,100
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80,760
81,586
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5,194
3,240
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2,726
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1,947
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833,471
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500,000& = 14!

630,000

900,000
1,947,000& * 14

1,000,000& * 14
5,194,000& * 14|
1,296,000& * 14
2,726,000& = 14

1,200,000
8,100,000
3,000,000
3,240,000

81,586,000& * 14
7,500,000

18,900,000& = 14!
5,000,000& = 14!
73,276,000& * 14
80,760,000& * 14

4,164,000
6,147,000
4,000,000
6,800,000
41,128,000
16,264,000
9,000,000
833,471,000& = 14!
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& 500 BED
2 50 A, CHIEE2ES
&: 521 Al - SHIEEZE (649 & 2
T 0 & 24 rSTEL=PNEEN timES
CESAE SAX 49 82,361,002 * 14! 82,361
CESAE T SN 6,960,0008 * 14 6,960
CESALEE HALIX 3,000,0002 * 14} 3,000
2R0IE Z0j EIIZAY| 180,0008 * 14! 180
MEISHAIE L SHAROHR +EX X
9,502,002 * 14| 9,502
MBS T B SEHALY 5,400,0008 * 14} 5,400
MEISTIAIS AT ALHEXE 698,008 * 14 698
MBS TIAIE BARE S 17,280,0008 * 14! 17,280
ATOISTS E88 N 25,920,0002 * 14! 25,920
AUAHIIE U JFESIE OlS D= 360,008 * 141 360
AEAEIIE ¥ JIESISO0IS JISnSY|
450,0008 * 14! 450
AUAHIE U IFESIE0IS 2atet)
522,0008 * 14l 522
PNEPNEBIEDETCED 3,000,0008 * 14 3,000
2SS CME 29(012) 17,460,008 * 14! 17,460
ANZDEAND TaHT A E AL 10,000,0008 * 14l 10,000
N2 ZE=X22(012) 35,000,008 * 14 35,000
ANZXH Z0HOl BoAlE AKX
24,000,000 * 14! 24,000
NEEC 22 2,983,0002 * 14 2,988
AHRREAE S 2,100,008 * 14} 2,100
Of2i20E et XY 3,000,0008 * 14 3,000
OMZABR AlM EAXLY ,296,0002! * 14! 1,296
TOHOL BSAIL LABTH 67,0002 * 14 67
ZOHOF BHAIL BAR SgLY 142,008 * 14! 142
ZOHOISRIAIL SAR 41,395,0008 * 1Al 41,395
ZOHQIAIL 2 (0l) 284,250,0008 * 14! 284,250
DOHQIMEAIL UAX AHFY 450,008 * 14 450
TOHQIMEAE AAT LAY 450,0008 * 1Al 450
TOHQIMEAS AT Ol FEH X2
1,386,000 * 14! 1,386
OHQIMENS HTHEX 2 1,500,0002 * 14! 1,500
BOHOl ASSHE SYXR(01Y) 21,000,008 * 14 21,000
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& 500 BEx3
2 520 Al,EHIBEXZ2S
&: 521 Al - GHIBE3S (cHol: w2
g2 0l ey & 0 4 o HIRE2
ZORO! THOHZ X ZAHME S (012)
18,000,000& * 14 18,000
ZOjOIFE BSAL2A(01Y) 19,381,000 * 14 19,381
OOl MNATHE A2 (012) 33,790,000& * 14 33,790
Hoteol SXHEHSS(012) 7,000,000& = 14 7,000
THOLEOH 2FE Y2T2012F 6,000,002 * 14 6,000
HASs Bs0ts2HAlH| 51,165,000& » 14 51,165
MASTHO ol A A E (01 2F) 8,148,000& 14 8,148
CHASEAY PEHE U QYR PHRAL
37,000,000& * 14 37,000
HASE EHSBBMLAL 10,800,008 * 14 10,800
NASES s MHAHIX 10,638,000& * 14l 10,638
- HEXNFEAE MWL K& 3,978,000& 14 3,978
ALY AL YAT SAHKE 698,008 * 14 698
AR AANE2H(0]) 237,570,000& = 14 237,570
HAURTAE 4K AAUSAS 3,022,000& = 14 3,022
SSTOI HENBMESY 37,500,000 * 14] 37,500
NP PiE 4,800,000 * 14] 4,800
ANSotsSHEH S SAXA(01L) 4,225,000& * 14 4,225
NHOISHE SAR ALY 3,780,008 * 141 3,780
NESXEEEH EAA=E 3,024,000 = 14! 3,024
NaEdgd Sold el At 6,885,000& » 14 6,885
K= Eofol X2 HEl 25,000,000 * 14] 25,000
el AlgH 2SI 1,800,000& * 14 1,800
HERSA Bo==LX= 145,680,000& * 14! 145,680
S45D HAS T4 2HHSYIN
2,278,000& = 14 2,278
HItolE YUK & 600,000& * 14! 600
TCOR 2K 4,320,000 * 14] 4,320
sls E-352sA 570,000,000& * 14 570,000
SRS EsH =t 6,600,000& = 14 6,600
BRDIIE XU H8es3 3,600,0008 * 141 3,600
SHRE2IIE NEXNEs 2,400,000& = 14 2,400
SHREIIE stlstEEH| 3,480,000& = 14 3,480
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I 500 X3
2 520 A, SHIBEZS
5 521 Al SHIEXSS ChRL
.28 O &b 04 & 0 At o SImE=T
Yovo2g 24318 1,800,0002 * 14 1,800
— 3123 15,000
CEZRMA 2B (SHMHL)
15,000,008 * 14! 15,000
— MOHS = ALt 50,170
olcMOtees 22PN 8,000,0002! * 14} 8,000
ASHESA L2ES 15,000,000% * 14! 15,000
CUEY NAZAZEIY 2PN 1,000,008 * 14 1,000
DHSAE AMUEZPYX 3,870,0002! * 14} 3,870
HEOl SN MEBIAY 4,800,00021 * 14} 4,800
ANZRESAME 2GR 2 7,000,008 * 14} 7,000
CASS0Y FSHHIAAY &0 X
1,500,00021 * 14 1,500
CASS N4 Y MW SXKY 1,350,0008 * 14 1,350
AZOIME S PO H A 450,0009 * 14] 450
#=5 B3Xtel BHSIIALY 7,200,008 * 14 7,200
— 25122 466,843
T2 FE0IYXE 10,000,0008 * 14! 10,000
EXE 2EMES 95,000,0008 * 141 95,000
SXE 2MESH(01Y) 64,500,0008 * 14! 64,500
CEXNFSEN FHEA #Y 5OtH2 JI=0He
7,000,0002! * 14} 7,000
LSS BHHAHOI) 270,002 * 14 270
LS 2RUSK 2,700,0002! * 14} 2,700
CSBBAHLA NHDHD(SADBHLAISEAY)
873,0002! * 14! 873
S0l SIS 1,500,0008 * 141 1,500
eststn=y 2,000,0002 * 14} 2,000
K MstayXl & 2 5t 2+ 2 & 2 5 30,000,0008 * 14! 30,000
OlA AN AP 10,000,000% * 14! 10,000
HEANE S2FHIALY 50,000,0008 * 14 50,000
193 BASE Z2HSHNANL
40,000,0008 * 14! 40,000
Eana2Yy 1,500,0002 * 14 1,500
S MOOlS BERRNY 150,000,0002! * 14} 150,000
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& 500 BED
2 50 A, CHIEE2ES
&: 521 Al - SHIEEZE ool a2
T 0O &+ o4 rSTEL=PNEEN =
CEDN2SHSRH(01Y) 1,500,000 * 14! 1,500
— QI TH A T 661,411
ANSC HAE ZBOIEH 10,000,0008 * 14! 10,000
S DBEAE ASNST2IWSE 2,000,008 * 14 2,000
Ch2s 34 0ieteis 1,500,000 * 14! 1,500
SHIEAED 29HIXY 8,415,002 * 14| 8,415
PUE D E=mPNE=T= 11,550,0008 * 14! 11,550
CANZMEISE 2HHIX 4,000,0002 * 14! 4,000
CAREAE ATHE 2ETY 20,000,0002 * 14! 20,000
CANPERNZEESEIIR SANY 170,000,008 * 14 170,000
CYENE BAIR XY 200,000,0008 * 1Al 200,000
A=A DI ECNSINE N 30,000,008 * 1A 30,000
CR4ELIMNE SDZA 109,342,008 * 14! 109,342
CEZSEM YOoHE SEN 91,604,000 * 14! 91,604
CSIU DIZENE 29| 3,000,0002 * 14 3,000
— S AICIX Q! B} 1,150,000
CCAESAIY 1,150,000,0008 * 1Al 1,150,000
—2AE D 1,783,100
CBE Y Y2I|FY 8,700,0008 * 14} 8,700
S=29IE AN 60,000,0008 * 14l 60,000
.OI2oY, IR, SREAS  110,000,0008 * 1A 110,000
SADR ZHAY 200,000,0008 * 14! 200,000
WAHOIE =5 22lAlL Fyl 210,000,0008 * 1Al 210,000
CHEX MY 2,400,002 * 14} 2,400
SNYE A2 ol 42,000,008 * 14! 42,000
- NS B oG 2 AP 1,150,000,0008 * 1Al 1,150,000
—8AE5 69,000
- BEAZA HAAL 45,000,008 * 14! 45,000
SEANRE MUY 48 P43
20,000,0002 * 14! 20,000
AOTIEH RHS0IKS 2,000,0008 * 14} 2,000
CHEEE 43 2a43T 2,000,0008 * 14} 2,000
~DEHHD 37,717
CRERH EAXS 1,200,000 * 14! 1,200
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09 e 0

500 EX=
520 Al ,EHIEZXESS
521 Al - EHIE X3S

F.2-8-2 Qb T & O At o -
SETEA EAZAE(01Y) 25,000,0002 * 1Al 25,000
- AL ZEAl SAI=FR LRIHIXS
11,517,0002 = 14| 11,517
— AR =X Dt 249,362
SR AEE ZED) 7,200,0008 * 14l 7,200
- Bsape 6,170,0002 = 14| 6,170
S AEFESES A HWEX B MEA 1,200,0008 * 14 1,200
AHE X CH 2 205,480,0008 * 14| 205,480
- AFS X CH R 19,680,0002 = 14| 19,680
- OFMSAZES 3,600,0008 * 14| 3,600
-dee 2UHQE 1,872,0008 * 14| 1,872
CTHES oA o2 4,160,000 * 14| 4,160
— X 4 XH Dt 42,791
LANS SULASYR R 1,214,008 * 14| 1,214
OIN2E2S AIMEA L Y SAGFT
9,600,0008 * 14! 9,600
-2XNed ANEd 5,000,0008 * 14| 5,000
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